Topic: Direction Sense
Time-10min

Paper-Maker Paper Maker 10
Direction (1-3): P=faf@a st # wa=ds sreagsr w{ 3R U v geat &
W &

fRrareh foig A @ gfator 1 3R el Y& Al & 3R g B ds ggual & fav 10
HieT gerch 8. 98 g B A S9dR a1 IR g #cr § 3R shaer: 5T 3R 6/
Tl 8. A &, G8 90 Hsc § 3N g Eaeh qgea & v 2 #iey =l §. a8
O Tl Y& LA § 3R a¢ Hs § 3R 12 #Hrex Foredhr & 3N Y a0 A3 § 3R
fSig D d% TgTe & forw 57T Tere &

Q1. fg D 3R E&F fraw A sgerawr gt frael 32
(a) 13

(b) V29

(V17

(d) 12

(e) 37 & IS =Ter
L1Difficulty 1
QTags Reasoning

Q2. &g B, D #r fFw faam & 2
(a) gigroT gfgH

(b) q&

(c) s

(d) 3 qd

(e) TR 18T fohar ST T
L1Difficulty 1
QTags Reasoning

Q3.3 ww =afFa 3wv fawm & fig D & o o« Far ¢, A 7@ g B ¥ Fraah ¥
R e fam & &2

(a) 12 A, 3R-9RgH

(b) 10 1, gf&Tor-qa

(c) 14 HIex, gfegA



(d) FaiRa 7&r fRar S Fehar
(e) 318 & I el

L1Difficulty 1
QTags Reasoning

Directions (4-5): § 7§ JMFN 1 CAEYES IeadsT Ffaw AR AT R 72 geat
& 3w difa:

fig P, fdg Q& 12#lex g & &1 f¥g Q, g R& 97l 3w & & 3Rk @iy & fog
S 115 gfaror &

foig T, 78g s & 8#ey uiRew # g1 g R, g U & 14 dex afgor & g1 f&ig w,
fig R& 15 & giRes & [&yd gl

Q4. g S F weaet A, fig w frer foam &F 22
(a) 3R-IIRTH

(b) gl&iur-ufegH

(c) 3T-ga

(d) cfator-qg

(e) 3R & HIg =Fal

L1Difficulty 1
QTags Reasoning

Q5.U 3Rk P & ey & ~gaaaw gft frasht 82
(a) V29 #r

(b) 13 &Y

() V37 &

(d)6 #r

(e) 318 & FI e

L1Difficulty 1
QTags Reasoning

Direction (6-8): e=ifaf@d I=ar’l i taqas ufr 3R AT R av qoat &

3W ST

fsig D, fdg C & 7#r gfator # §, f§g C St B 57 g # 8. g F, &g G & 124
uftas # §. g E, [ig D& 64T 4@ # § 3R f&ig A, g B & 107 30R # §. §g
E, fdg Fah 174 gfator & § 3iR fdq H, g E& 128 30 A &,



Q6. fiig H 3R G F 7ew sgaaw gt fFasit 872
(a) 10 HeX
(b) 25 HIX
(c) 16 HIX
(d) 13 #HreX

(e) 7 HIX
L1Difficulty 1
QTags Reasoning

Q7.Rg A% west &, g E forw fam & 27
(a) cf&yor

(b) GfaToT-qd

(c) f&roT- gfegs

(d) 3aT-ufeaH

(e) 3T
L1Difficulty 1
QTags Reasoning

Q8. afx g P, fig D& 57 uftasr & 2, Y g A & wast &, g P forw R &
A Frael g w7

(a) 17 &, gfeor

(b) 12 #, gigror-giRaH

(c) 10 &Y, 37X

(d) 15 &, gRgs

(e) 117, 3TR-gd

L1Difficulty 1
QTags Reasoning

Directions (9-12): RFafaf@d I=al & tamqds gfer it #r e 7w weat &
I difaw,

Tsh i fdg AT B qgdal & ToIv qa fqem & 3R Ioier g #ar g, s & A
¥ 158 q@ & §. 98 T e H3ar & 3R §g C W ggael & faw 20 # weldr §. C
¥, Jg 91U AT & 3R foig D 9gas & T 1677 Fercrm &, Y 2leRT 9 a1e



sl § 3R foig Edeh 1041 Telal §. E@, g §1U #H3T & 3N F R 9go= & faw
208 T §. T g g Hsdl § 3R G W 9ggsl & fow 5 & =ordr § 3R 3id &
g foig H R 9ga=l & fav 910 73 &, foig H St & g G & 109 ¥ &

Q9.fg F ¥ west ¥ fag B frwr fam & @2
(a) 3R-9TTH

(b) Gfator-qa

(c) 3R

(d) gfgrur-ufegA

(e) 3TR-gd
L1Difficulty 1
QTags Reasoning

Q10. fr=ifaf@a arer F ¥ IR R & YR W v WHE @ WO § 39 RweT @
T4 AT AN 39 FAF ¥ wafa a6 82

(@)A G

(b)F,C

(c)B,D

(dHF

(e)D,E

L1Difficulty 1

QTags Reasoning

Q11.7dg A 3k g H ¥ e ~yaras gt fraeh 87
(a) 5m

(b) 10m

(c) 15m

(d) 20m

(e) none of these

L1Difficulty 1

QTags Reasoning

Q12. farafaf@a & & la-ar X 1 faweaw g &, & #r BCF 7eq 7 32
(@) E

(b) F

(9cC

(d)B

(e)H

L1Difficulty 1

QTags Reasoning



Direction (13-15): fAraifaf@a I=ait #1 taeqds reaasr fifaw it AT Re
AT et & 3 el

Teh AfFd 30 TR @ 99 o & T 3R I 8, 20 X Fod & g g8 ardi
3R Fzar § 3R f¥g-C T ggua & fv 15 Hiex wefdr &1 [¥g-cd a8 v I arfi
3R H3ar g 3R 10 #A. Torar § dUr T dg 39« 9T 3R Fsor § 3R 5 A
TR HfAHA fg-E R Igaa &l

Q13.fdg-E & weet &, 3w wX e fam & 87
(a) 3T

(b) gf&yoT

(c) 3TR-ufegH

(d) cfaror-qd

(e) gTeTa

L1Difficulty 1
QTags Reasoning

Q14.af Rg-A, Rg-CH 2 Mex @ & &, @ RG-E IR AF drwr =yaraw gt frash
?

(a) 10 #HeX

(b) 15 HeX

(c) 25 HeX

(d) 13 Hex

(e) 7 HIET
L1Difficulty 1
QTags Reasoning

Q15. faig-, 3wt sfasr Rufa @ fFw e &7 372
(a) F-99

(b) g

(c) 3

(d) 9fae

(e) EfEyuT-ufRers
L1Difficulty 1



QTags Reasoning

Solutions
Solution (1-3):
Sol.
A
E
10m
—|6m
12m| 5m B
D 5m
S1. Ans.(a)
S2. Ans.(d)
S3. Ans.(d)
Solution (4-5):
Sol.
T—sS
6m
U
5m
Q 1Zm
9m
w 15m R
S4. Ans.(b)
S5. Ans.(b)

Solution (6-8):
Sol.



10m

7m

6m

S6. Ans.(d)
S7. Ans.(b)
S8. Ans.(a)

Solutions (9-12):

Sol.

A—) 15m B

H E10m 6
5m

5m

1Zm

<
F 5m
20m
4

10m

c 15m
S9. Ans(e)
S10. Ans(e)
S11. Ans(a)
S12. Ans(b)

Solution (13-15):
Sol.
20m

‘ om  C
5m

E

S13. Ans.(c)
S14. Ans.(d)
S15. Ans.(a)




